
0 ISSUED FOR FABRICATION 26.09.2014 CA

A ISSUED FOR APPROVAL 25.09.2014 CA

Rev Revision Details Date Drawn

WC_0068

Job No.

Rev

0MP107
Drawing No.

TYP POST DETAILS
DescriptionProject :

RIPLEY'S BRIDGE
BARRAMS RD

Client :

Drawn: 
CPA

Checked:
CPA Date:

25.09.2014
Scale:

1:120

ERECTION NOTES :
1.              INDICATES MARKED END OF MEMBER, 

MEMBERS TO BE ERECTED WITH ASSEMBLY MARK AT THIS LOCATION. 

   WEB U.N.O. IE ERECT BEAMS TO SOUTH OR EAST SIDE OF FIN PLATES.

2. ORIENTATE COLUMNS AS PER DIRECTION STAMPED AT BASE OF SHAFT.

4. FIN PLATES FOR CHANNELS ARE ON HEEL (OUTSIDE FACE OF WEB) U.N.O.

3. FIN PLATES FOR BEAMS WILL BE ON THE NORTH OR WEST SIDE OF BEAM 

5. ALL DAMAGED OR BARE STEEL AREAS TO BE REPAIRED TO THE 
APPROPRIATE SURACE TREATMENT AND PAINT SPECIFICATION.

6. ALL PURLINS TO TOE UP ROOF LINE UNLESS NOTED '*' = TOE DOWN.

C/L_POSTS

POST DETAIL: PT101, PT102, PT106, PT107

+0

C/L_POSTS

+0

POST DETAIL: PT103, PT105

C/L_POSTS

+0

POST DETAIL: PT100, PT104

RAIL
3 LEVELS

25
G

R
O

U
T

39
5

POST ASSEMBLY

HANDRAIL

FACING PANEL

2x14-20X30 LONG
(ST 6.3/CSD CLASS 3)
SELFDRILLING SCREW
WITH HEXAGON SCOKET 
WASHER HEAD.

3 x M20X190 LONG BOLTS
CLASS 8.8/S WITH NUTS CLASS 8
AND LOCKNUTS CLASS5.

RAIL
3 LEVELS

25
G

R
O

U
T

39
5

M10 BOLTS AT
600 C/C

6 x M16 X 40 LONG BOLTS
CLASS 8.8/S WITH
50 DIA X 4 ELS WASHERS.

2x14-20X30 LONG
(ST 6.3/CSD CLASS 3)
SELFDRILLING SCREW
WITH HEXAGON SCOKET 
WASHER HEAD.

FACING PANEL

HANDRAIL

POST ASSEMBLY

ARCHITECTURAL BLADE

RAIL
3 LEVELS

25
G

R
O

U
T

39
5

6 x M12 HDG BOLTS
WITH TOPHAT WASHER
& NEOPRENE WASHER.

POST ASSEMBLY

HANDRAIL

FACING PANEL

2x14-20X30 LONG
(ST 6.3/CSD CLASS 3)
SELFDRILLING SCREW
WITH HEXAGON SCOKET 
WASHER HEAD.

6 x M16 X 40 LONG BOLTS
CLASS 8.8/S WITH
50 DIA X 4 ELS WASHERS.


